MTH 231 Exam 3 Soletons 4/10/2006

@ hix)= yﬁ&{";,; _e<X LS

Lix) = IxT—itx = 2 (x-4) o = CP:x=04

hioy=1s L(4)=-17, L(c)= —/lo

Test+ PoinFs L(-5)= —2%6o,

SRS - ox —3,
| s I e &
>, 'Q(')O:XV'ZXL'Z k=t L o t
/ : et el _—y
| Blx)= 4l (B ® Yx (x-O(xty =0 VT
a by — — !
| ) @CP:X=",?&' ol j((::\; oo ;
@a ¥t pes Test min ot x=-01 avd “@){ atx=0 > T e g
Jucheafiny oM ( -I,?)y (iff,fiw -

-?Cx) c[ec,i\eqfll\) o (voo,-—l\u(o,:)
x~1 — + +

) g.(x) = ok + 6D X, x>0 o ¥

gto= x-2+ 64 o & 2x-8x+6 = O (x>0) —+—+3
< € x-3 )x8) o CF: k) 5 gm ™t

#; I Decn TeS‘,’, el vox af X‘-:" Nl e X =3 (7(7()4‘@./;

g Gr) e ralia e -00,00 V (3,#), decrensig o0 (L3).

R fk)= xf{—2x -3 B
Q/(\()-.qxﬁ—*fx _ dx(x=0)(xtD 2o = cP:x==1,9] :;ﬁ o™ "_;
T a .
o Ermmht (i o xmio xR PRI
. , z v
L 244 o test - LU >0 = k=t rel. e bL: X= "5 76+~ “*
v (oY <o = X0 jel vaox e g Cu  °b.fHs
: ! " ar
| | grqy >0 > = M — G( c-mp) chW B
| S T IR
op:x=l,3 & @b 261,
L — +

o g (x) = X' =8x 4 6L X

| L) 9/te) = % -¢ +6/x N

“ 9 — g v = axt= (x»0) = X =
§'e) > =0, 7

Docaim X >0 = yeo € - (0,(2), Cu ow (/2 ®).

% 2,"“1 Hew TI}"’ ?'IO) 0 = el ~ax, q"(?))O Pl eaia

b)

__—.}.———-*—
2= x=2 B 0
Jew €b Ctn

\ 3
bt }




400

= 7”’7'[\ = 4000 cwd i~ L=

Wrt
= 92 I 4 1+ 2mrh
ot 2z 4 990 . A :
C(V‘) - L/TTV' 4 ZTTV"( = = Y+ 9_%:0_?
lr.y m - ¥eoo ‘
c'te) = 8 — wah = err3= 2000
| 3= (900
Nole - e =9rr+,’£'2_:° = T
¥ -= 12 _ 000
d = ) e X
Co M'; 2 G 'fj. Yniin IJ Z’ (lejih ‘fefl : I Moo
—_— L: ‘/O/{ri:
@ Lx+ax) = $(x) + £x) ax
-0l ! \
= : e e +refo)*F e—-,% = Te
10
A
1 _ X —R= N :
(D Yy = K 2"’ X, = 1.0
B .
R %o 1 22
Aus. (- % X3= 4 —0.0975% 1.235°9
). 220

-
X'l =/ Z‘ZS'Z —0.0/9€

¥/2



